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02 considering upto
(05 Marks)

at the point x 0.2

(05 Marks)

: 0.1762. Compute

(06 Marks)

an approximate of y wiren x : 0.1 given that

h : 0.1 and three iterations. (05 Marks)
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2 a. tJsing Iluler's n'rethod. find

: I when x:0. Takc,4r yand y
dx

y(0.1) : 1.0399s y'(0"1) : 0.69ss

y'(0.2): 1.258 y(0.3):1.29865

b. Provc tliat J,,(x.)=ffir,, -

c. State and pro\/e Rodrigue's fbrmula.

y(0.2) : l. 138036

y'(0.3) : 1.873

I of 3

(05 Marks)

(05 Marks)

(06 Marks)

dvrv
dx2

(06 Marks)

(05 Marks)
(05 Marks)

ifa*8.

(06 Marks)

rhc data y( I ) - 2, y(\.1) : 2.2156, y( 1.2) : 2.4649, y(1.3) : 2.7514"

Module-2

Given #:.t[v*fl] ,i'0,: l. y'(0.1):0.s, evaluate y(0.1) using 4'r'order - Runge -
l(Lrt1a rncthod.

b. Express (x) : xt + 2x' - 4x + 5 interms of Legendre polynomials.
I

c. If u ancl B are the roots of J,,1x):0 then prove that JxJn(ctx)J,.(Bx)dx =0
0



5a.

7 a. Derive mean
b. Tlie

of the Binomial
an individual

15MAT41

(05 Marks)

C is the circle

(05 Nlarks)

nto the points
(06 Marks)

(05 Marks)
(05 Marks)
(06 Marks)

(05 N'Iarks)

fior.n an iniection is 0.001. Find the

get a bad reactioll. (05 Nlarks)

X and Y as lblltru s :

b

L.

c.

react roll

than 2 i,vill
random variable

I

Detet'mine:
i) Marginal d
ii) Y
iii) Correlation XandY

ofX and Y

(06 Marks)

(05 Marks)v${nean
OR

8 a. Deri
b. The life of an

and of
is nonnally

Out of

10n.

of
tcd rvith average life of 2000 hor-rrs ancl

flnd the number of bulbs that are likelv to
(05 Marks)100 hours. tP(0< z<1.67):0.4525

tion o two randotn variablc X and Y as fbllor.vs

Detennine :

i) Marginai
iD

tion of X and Y
and Y

iii) Correlation of X and Y.
rl,,,rli:r''::,

,., ia;j

,,,.'

6') I 4\px\
''0.0.' 0.30.1 0.2"1

0.1 0.00.2 0.1,,,.,,,1

xt
x .,r'\ -1 2 7

1//8I 1//a
t//8 t//85

1/
/4

2 of 3

(06 Marks)

,t

Using Cauchy's rcsidue tlteoretn cvaluatc thc intcgra' i* O'
1 tz-ltu

OR
6 a. Statc and prove Cauchy's theoretn.

tr. GivenLl-v:(x-y) (x2 +4xy+ yll trndthe analvtic lirnction l(z): u+ iv'

c. Discuss the translortnation W : e'.

1/o



b.

15MAT41

(05 N{arks)

- 4, -2, -2, 0,2,2,
(05 Marks)

(06 Marks)

C

10 a. A coin is to
coin is unb

tl, A sct ol' lar co

times and head turns up 540 times. Decide on the hypothesis that the
(05 NIarks)

ins is tossed 320 times and the result is

I 2 .l'"tt"":'""3
Aa 5Number cll' s l0

l6 2l 12 | 112 71 32

JOIJ

Module-5
9 a. Explain the fbllorving terms :

i) Null hypothesis
ii) Type I and Type II error
iii) Significance levcl.

A

Freq uency

Test the hypothesis that the clata follow' a binomial distribution for v : 5 we have

X?,os = 11.07. (osN,Iarks)

A students study habits are as follows. If he studies one night, he is 60% sure not study the

next night. On the other hand if he does not study one night, he is 80% sure not to study the

next night. In the long run how often does he study? (06 N{arks)

***+*

t./ r./t/ t//2 /4
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ilrlis)

arl(s)

(0(r \larLut

(05 ]larks)

(05 )Iarks)

(06 ]larl<s)

(06 llarlis)

(05 \l:rr I*r

(05 )larlis)

(05 Nlarlts)

(()5 \lart.ri

(06 )lart.s)

rlOV4 a. Stllve ': *
1)ox
,]OVb Solre :.-
l-tIx

c. Solve by the

-dv5 " +bv=e'.
dx

. dv (lv4-l - 5v-() suhicctttr. -l'-l.v-Irlr-0
tlr dx

method o1'variation of'paranreters y" + ary : sccax
1 r>l'2

[']incl A r.

I O 1 1l

ll-r-J
alt-'J+t

l
1 r']_ -1 r +l

[023l) 1 5

l- , ,,
A*

4l
"+l
,r lr-l

tl. Solve the lolloivrng system o1'ecluations by Gauss elirrinatton rnethod
x1-2x2*Jxt:2
3xt - x: -t'lx-r :4
2x1+x,-2x1:5

,{.,
Solve *.+9*4y=0 giverrthaty:0,,:-l - I atr- I

tlx' dr th

12
2*l

b

c. Soive by the method of undetern,ined coefficient

OR

rl Iu{-:0Y,lr-Jc"
dx' dx



5 a. Find: I- lt sin at}
Module-3

u lrcrc I'1t : r) t(a ) . Show that

d

stcp I'unct

l5MATDIP4l

(05 NIarks)

E /as\
-l\+lb. (l ivcn 1'( t I -

E 0<t<al2
- E al2<.t<aI

l

t- {rl tl } tanh
S

(06 Marks)

(05 Marks)

(05 Marks)

(05 Marks)

ion and hcncc' f incl thcir

c. Iiintl [-i1:tt r 4r i 5)Lr(r 3) 
I'

(, at Ilr-e ti,l
OR

6 a. Find I.

b.

C,

Prove that L(sinat) =-L
s-+a-

['rrpress the lblloi,r ing firnction in terms o1' the Lrnit

I -ap Iac:c translbrr-n.

ind

ind

tf' (06 \Iarks)

(05 Marks)

(05 Marks)

7a. Ir
)

b F

8

I

r0

c. Solr,,e the dil'lcrential ecluation y" - Jy'* 2y - 0, l,(0) :0, y'(0) = I by l-aplacc translbnlr
technicprcs. (0fr \larks)

r..oR
a. Iirrdlr, ,t-l_f (0s)rarksl

ls -6s+l3J
b. ljind L ' 'lcot ' 1s / a 1). (05 \tarksl
c. Solve, y" * a2y: sint rvith y(0) : 0, y'(0) : 0. lJsing t-aplace transflorm. (06 N{arks)

Module-5
a lhc probability that 3 sluclcnts A, U. C soll'e a problcm arc li2, L/3, 1,14 rcspcctivclv lf-thc

problenr is simLrltiincouslv assigneci to all o1'thcnr. rvhat rs thc probahility that thc ploblcnr is

solved'.) 105 \lurksl
tr. 'l'he probability that a tearr wins a match is 3/5. If this tearn play 3 matches in a toLrrnarnent,

what is the probability that thc team i) win all the matches ii) bose all the rnatches.
(05 \Iarks)

c. Statc and prove Baye's theorern. (06 \trrl<s)

OR
a. Prove that

I)(,\ r; L3 ; C) -. P(A) + P(U) + P(C) - P(A . B) - P(A n C) - P(B n Cl) + P( A I [] r. (l) .

b

(06 \larlis)
A box cuntains 3 white,5 btack and 6 rcd balls. Il'a batl is drawn at random. What is thc
probabilrty that it is entire red or whrte'7 (05 Nlarks)

In a bolt factory there are four machines A, Il, Cl. D manufhcturing respectir,ely 200,i, 150,'..

25%, 40% o1- the total production. Out of these 50lo, 4%.3%- 2oh are de fcctrvc. If a bolt
drawn random was fbund defective what is the probability that it was manufacturcd by ,\.

(05 NIarks)

*t**r<

2 ot'2
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2 Explain

3

ses with cxamplcs.
it implicitly'/

(04 Marks)
(06 Marks)
(06 Marks)

a.

b.
IS

Nlodule-2
a. Explair-r the fbatures of JAVA. (06l\Iarhs)
b. Wnte and dcmonstratc a Java prograrn to initializc and display dillbrcnt typcs of integcr ancl

floating point variables. (0,IMarks)
c. Define type casting. Explain with an example. (06 Marks)

a. How arays are clcflnecl in Java? erpfui,ll,Ith an cxarnple. (0tt llarks)
b. What is.iump statcn-rcnts'/ Explain thrcc.jump statcrncnts witli examplcs. (0ti I,Iarks)
c. Explain : i) >>:' ii) shorl circuit logical opcrators iii) 6r cach.

Module-3
a. With an examplc. cxplain thc use of superand this in Java inhentance (06Marlis)
b. Explarn the role of interfaces while implernenting multiple inheritancc in Java. (06 N{arks)

c. flreate a try block that is [ikely to generate 2 types of exceptions and incorporatc ncccssary
catch block to catoh and handle them. (04 Nlarks)

OR
a. Write a program in Java to irnplement stack that can hold 10 integer values. (06 Ntarks)

b. Irxplain.lar,'a's built-in exceptions. (05 Nlarks)

c. Deflne package. What are thc stcps inr,'olvcd in crcatir,g uscr dcllncd packagc ti.'itlt att

cxamplc. (05 Nlarlis)

Module-4
a. Why is "main" thread important? Write a Java program that crates multiple child threads ancl

also ensure that main thread stops at last. (06 Marks)
b. What is meant by thread priority? How to assign and get thread priority'? (06 Marks)

c. With syntax cxplain the use of isAlive( ) and join( ) methods. (04 N{arks)

I of 2

em,..$ffiffiffi
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I
Fourth Semester B.E. Degree Examination, July/Augvst 2022

Object Oriented Goncepts

Max. Marks: 80

Note: Answer any FIVE full question$ &'posing ONE full questipn from eacl, module.

Module-l



OR
8 a. Erxplain clclcgation event rnodel usecl to

I istencrs untl e v'cr.r t sources'l [lxp lain.
b. W'ith a .lur,a progranr cxplain handling

9 a. Explain Applet architecture and
ancl type conversions in

b. Write an applet program to
color to cyzrn and lore to red.

OR
l0 a. that are

b

I5CS45

by sr.r,ings? Explain tlte two kcy
(06 Marks)

in .lal'it. What are eveuts, event
(Oti \Iarks)
(08 Marks)

parameters lor font size. lont nanrc
(0ti N{arks)

BELGALiM" set the back qroLrnd

(08 N'larks)

i::;. 'iltr. "
tt

how to pass

mt:ssage 'oVTIJ,

overconne

)JT

different types of
,,,,,,,.,,

swipg'buttons

ii i)
iv)

c. De
(06 Marks)
(04 Marks)
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